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Section K: Bolany
Q. 1 = Q. 10 carry one mark each

For the formation of embryo suc the functional mMEgAspore undergoes
(A ) Three meiotic division (B} Theee mitatic division
(C) Two mitotic division (D) Twa meivtic division
How many nuslensames per turn sre present in a 3 nm chromiatin fibre?
(A4 (B)& )6 (D) 10

The process by winch water undergues a phase transition from liquid state 10 an
amorphous ‘glassy state’ is known us

(A} Desiccation {B) Vitrification

(C) lce nucleation (D) Hyperhydricity

The term ‘somaclonal variation®” was coined by

{A) Murashige and Skoog (B) Karp and Maddock
(C) Gumborg and Phillips (D) Larkin and Scowere:
Steeage and transport of lipid occurs in

{A) Glyoxysomes (B} Peroxisomes

{C) Lysosomes (D) Spherosomes

The drug morphine 15-obtained from which plant part of Papaver somuiferun’
(A) Leaf (B) Stem (C) Capsule (D) Root

The floristic region of the world are determined on the basis of geogruphical
distribution of plant ‘genera. ldeniify the correct reason for this speciation.

(A} Climale change (B) Genetic varation
{C) Population distribution (D) Ecotypic variation

Pericyele is regarded as

{A) The origin of lateral root and it is
located between the endedermis and
vascular bundle

{C] Parenchymatous ground tissues
passing in between the vascular
bundles

4y the vascular bundies
(D) The layer next o epidermis and
solely consists of primary tissues

Apospory can be defined as

(A} Davelopment of sporophytes onthe  (B) Development of gametophyies on the

gamelophyics without any reduction sporophytes without any reduction
division division
(C) Development of several embryo

within the same ovule from an egg cell or male gamate

(8) Internal pround tissue present ut the
central position of the organ limited

(D) Development of an embryo directly
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The synonym of the Tamilies Lubitae, Unhelliferae, Compositie and Gramineae wre;

(A} Leguminaceae, Acantheceae, {13} Solanaceae, Arrcaceae, Apisccae,
Asteraceae, Lamiaceac Poaceac

(C) Lamiaccac, Apiaccuc, Asleraceue, (1) Lilliawcesw, Coccrlnlaccuc, Peucg o,
Pouccae Aslorsccae

Q. 11 = Q. 26 carry two marks cach

The following features outline a system of plant clessification

= Unisexual flowers arc the most primitive within the angiosperins

- Polyphyletic oripin of angiosperms

- Monacotyledons have been considered more primitive than dicuty leduns
Which enc of the following systems of classification reprosents above fcotuies?

{A} Linnacus {B) Engler and Prui
(C) Rendle {D} Hutchinson

Following are the features of one type of C4 mechanism

- The mitochondrion is responsible for malate decarbox ylution

- The mesophyll cell tends to form aspartute rather than malale. from oxaloacerate
- Presence of double bundle sheath

Identify the correct one.
(A) NADP-ME type (B) PCK-1ype
(C) NAD-ME type (D) CAM-type

Which one of the fallowing stalements is not true for marker-assisted seleciion?

(A) The ability 1o manipulate recessive genes and identify the heterozygotes

(B) A reduction in phenotypic screening and in the number of backcrosses

(C) Without th=seli-fertilization of individual, heterozygotes cannot be identilicd

{D) An early detection of superior lines along with the ability 1o select multiple traits
simultaneously

Following are the symptoms of a discase in potato

- Small, isolated, scatiered, pale brown spols on the leaflets

- The lowest leaves are atlacked first and the disease progresses upwards

- In the necrotic spots, concentric rings appear on the older leaves and darkened areas
on the stem

- There is usually a narrow chlorolic zone around the spots which lades into normal
areen and increases with an increase in the size of the spols

Identify the-disease, which manilests these symptoms

(A} Ezrly blight of potato (B) Wart disease al:potaio
(C) Brown rol of potato (D) Late blight of potato
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e two ympartant bivchenical reactions of nitmpen metabolism are shown baiow
NO+8H # 67 . NH+ + 21,0

Cluzimiate + NHy 4 ATP « Mgh*® 220 Glutamire + ADP + Pi

Which one of the follow g paua of Cadymies &5 .. Te for the above reactions
respeciively?

(A} Nilnte reducrase and Glutamate dehydrgenase

(13} Nurate reductse and Glulamine synthelase

() Nutrare reductase snd Glulamine synthetase

13} Nitnte reductase and glutamate synthase

The functions of vir D2 protein in plant are

{A) Nuclear targeting und pratection of 5 end of T-DNA

(B3) Sensing phenoli¢ kinasc and induction of phosphorylation
(C) Nicking and processing of T-DNA

(D} Synthesis of tranzfer apparatus and regulation of cell cycle

O — '0p —» ¥ —— Y .
I the given stepwise reduction of Oy, choose the comect scguenae of reactive
orygen species’ formed marked as "X and *Y*

(A) O = "OH {B)H:0; — "OH
(C) '0; = H:0: (D)°OH — "0;

In @ three point test cross XYZ/xyz X xyz/xyz, the following data arc obtained:
XYZ  xyz Xyr xYZ XYz wZ  XyZ  xY2

476 471 L5 I8 g 9 1 I
Find out the distance between X and Y genes

(A) S cM (B) 3 cM

(C)8 =M {D)2cM

(.19 - 26 are matching excrcises, Choose the correct
one from among the alternatives A, B, C and D

Giroup | (Type of interaction) Group 1! (Fz Phenotypic ratio )

Recessive epistasis 1. 12:3:1
2 Dominant epistitis 2.13:3
R Duplicate recessive epistatis 3.9:6:0
S5 Dominant and recessive epistatis 4.9:3:4
597
6. 15:1
() (B) (© (D)
*3 P4 PG P-1
Q-1 Q-1 Q-3 Q-5
R-2 R-5 R-2 R-3

§-5 $-2 51 S4



Qjﬂ Group | (Secondary metabalite)

¢zl

Q122

P Ceoniinc

Q Morphine

R Quinin¢

§ Chalcone

(A) {B)
P-1 P-3
Q5 Q-4
R-3 R-1
5-4 8.2

Group | (Plant product)

P Hing

Q Dalchini

R Salfron

g Kattha

(A) (B)
P-1 P4

Q3 Q-2
R-6 R-3
54 S-1

Group I (Enzymes)

P Glycogen phosphorylase
Q Hexokinase

R Pyruvate carboxylase

5 RuBP carboxylase

(A) (8)
P-5 P
Q-1 Q-2
R-6 R-5

5-3 §-1

Group Z (Precursor)

1. Tryptophan
2. Phenylalarine
4, Tyrosine
5. Omithine
6. Agmaline

()
P2
Q-1

R-2
53

Group 11 (Plant species)

1. Cinnamomum zeylunicum

2. Acacia catechu
3. Ferula asafoetida
4, Acacia nilotica

5. Cinnamonum tamala

6. Crocus sunvis

(C)
P-3
Q-1

R-6
5-2

Group [T (Pathways)

(D}
P-2
Q4
R-5
S-2

I. Glycolytic pathways

2, Calvin cycle
3. Cyeycle
4. Cyeycle

5. Glycopenolysis

6. Cyeyele

w)
p-2
Q-1
R-3
54



1323 Geoup ] (Inflorescence)

" Rugenw

€ Catlan

o Cyvathiiem

o Neumcillasigr

&)
i*-1

(4 I8
B
558

1i.2q Ciaoup | {(Hormone)

P Gisberellin
0 1AA

R Cylokinin
S Eibylens

2 Groaup B ( In vitro problems )

P Browning of explants
Q@ Hyperhydneity of regenerated

shipdis

R Low frequency of formation of

(B)
P-5
Q-1

R-3
$-6

protoplast colonies

5 Low teansformation frequency
during elistic operation

(A)
p-2
Q-3
R-5

—4

(B
P.3
Q-2
R-4
50

Group I (Plunt genera)

1. Painsetin
2. Ocinm

3, Rapheans

4. Calatropis

S. Ficux

0. Salia

() (1)
p.2 (]
Q-5 Q-
R-3 R-1
Sl S0
Group 11 (Functions)

1. Photatrophism and gravitrophism
2. Stomatal movement
3. Delay of senesence
4. Combating water deficit
5. Sced germination
6. Ripening of fruils

(©) (D)
P-3 P-4
Q-4 Q3
R-§ Rl
S-1 S-5

Group 11 {Remedial measure)

1. Addition of antioxidants in the medium
2. Nurse culture

3. Osmotic pretreatment of tissues
4. Mem" 22z raft culture

5. Degrease agar conceniration
6. Depletion of CO;y in the culture vessel

() (D)
"l P4
Q4 Q-3
R-2 i1
53 56
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Linko! Answer Questions: Q27 to Q2Eb varey Do amarks cach

Stutement for linked answer questions 0270 & Q.27
1n tomaro e following genes are Tocated oa cligom o 3

+ Ll plant d dwat plant
+ normad fenves o metbed [eives
+ gmowth frue = pubescent frun

Results af the cross
+++idmp X dmpldmp were

44+ 130 dmp 432 +mp 45 Fae A8
44n 16 dmi+ 17 +m+ i S I

Which one of the fallowing proweny graups represenis doubie ciossovers?

{A) +mp Lder 113 ) H4p0 B

{C) +m+d d4p (1) w5 2 daip

What wauld be the salue of coincidence?

{AJ0.23 (RyOas
(C) (.66 (Mnss
Statement for nked answer guestions Q.28 & (1280 Twa praterns hasing v

molecular srcight of LYIOK dalion were I Deing  opel-Hans i

modilization one of the proisin s phasphon lted,
Wt wilh be the matare of she bamdish ol the masture o8 taste proters
slectrophorchie gel?

{4 Single band fHY Destimen tso hands
(G Mo band{s) aall (D} Bands with 2 number of sulrntis

Far finafier sepastton of thess tw proteing whal method ooe shaid adapt?

(A0 2-13 2l clectrophionesss (B Gl fdination Chromute ciaphy
() Natve el viectnphiress (1) B i plugse chifanrtagraphy
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